HILLE TYPE OSCILLATION CRITERIA FOR A CLASS OF FIRST ORDER NEUTRAL PANTOGRAPH DIFFERENTIAL EQUATIONS OF EULER TYPE

KAIZHONG GUAN^{*a**}AND JIANHUA SHEN^{*b*, *c*}

 ^a Department of Mathematics, University of South China, Hengyang, Hunan 421001, China
 ^b Department of Mathematics, College of Huaihua, Huaihua, Hunan 418008, China
 ^c Department of Mathematics, Hunan Normal University, Changsha, Hunan 410081, China

(Communicated by Toka Diagana)

Abstract

In this paper, we investigate the unbounded delay neutral differential equation with positive and negative coefficients (and of Euler form)

$$\frac{d}{dt}\left[x(t)-R(t)x(\gamma t)\right]+\frac{P(t)}{t}x(\alpha t)-\frac{Q(t)}{t}x(\beta t)=0,\ t\geq t_0>0,$$

where $P, Q, R \in C([t_0, \infty), R^+), \alpha, \gamma \in (0, 1), \beta \in (0, 1]$, and $\alpha \leq \beta$ are constants. Some Hille type oscillation criteria for the oscillation of all solutions are established.

AMS Subject Classification: 34K11, 34K40.

Keywords: Oscillation, neutral differential equation, unbounded delay, positive and negative coefficients.

1 Introduction

The oscillation of neutral differential equation with positive and negative coefficients and constant delays has been investigated by many authors. For example, Chuanxi and Ladas [4], Farrel *et al.*[5], Ruan [12], Yu [17], Yu and Yan [18], and Shen and Debnath [13] have investigated the following neutral differential equation with positive and negative coefficients

$$\frac{d}{dt}[x(t) - R(t)x(t-r)] + P(t)x(t-\tau) - Q(t)x(t-\sigma) = 0,$$
(1.1)

^{*}E-mail address: kaizhongguan@yahoo.com.cn

where $P, Q, R \in C([t_0, \infty), R^+), r \in (0, \infty)$, and $\tau, \sigma \in [0, \infty)$. All kinds of sufficient conditions for the oscillation of all solutions have been obtained there.

On the other hand, it should be mentioned that there are many good results for the stability of delay differential equations with unbounded delays (see [16] for example). However, there are few results for the oscillation on such equations except [2], [8] and [14]. In particular, to the best of our knowledge, there is little in the way of results for the oscillation of neutral differential equations with unbounded delays and positive and negative coefficients.

In this paper, we consider the following unbounded delay neutral differential equation with positive and negative coefficients (and of Euler form)

$$\frac{d}{dt} [x(t) - R(t)x(\gamma t)] + \frac{P(t)}{t}x(\alpha t) - \frac{Q(t)}{t}x(\beta t) = 0, \ t \ge t_0 > 0,$$
(1.2)

where

$$P, Q, R \in C([t_0, \infty), R^+), \alpha, \gamma \in (0, 1), \beta \in (0, 1], \text{ and } \alpha \leq \beta,$$

$$(1.3)$$

$$H(t) = P(t) - Q\left(\frac{\alpha}{\beta}t\right) \ge 0, \text{ and not identically zero.}$$
(1.4)

It should be noted that Eq. (1.2) is different from Eq. (1.1) which is concerned with constant delays. And, Eq. (1.2) includes a lot of differential equations. For example, the oscillation of solutions of the following unbounded delay equations of Euler form

$$x'(t) = \frac{p}{t}x(\alpha t)$$
 and $x'(t) = \frac{p}{t}x(\alpha t) - \frac{q}{t}x(\beta t)$,

where $p \in (0,\infty)$, $q \in [0,\infty)$, and $\alpha, \beta \in (0,1)$, was investigated in [1] and [6], respectively. In [9] and [11], the authors studied the asymptotic behavior of solutions of the equation

$$x'(t) = ax(\alpha t) + bx(t),$$

where $a, b \in R$, $0 < \alpha < 1$, which arises in [10] as a mathematical model of the motion of a pantograph head on the electric locomotive.

The major object of this paper is to establish oscillation criteria for Eq. (1.2) under the following three cases:

$$R(t) + \int_{\frac{\alpha}{\beta}t}^{t} \frac{Q(s)}{s} ds \equiv 1,$$
(1.5)

$$R(t) + \int_{\frac{\alpha}{\beta}t}^{t} \frac{Q(s)}{s} ds \leqslant 1,$$
(1.6)

and

$$R(t) + \int_{\frac{\alpha}{\beta}t}^{t} \frac{Q(s)}{s} ds \ge 1.$$
(1.7)

By a solution of Eq. (1.2) we mean a function $x(t) \in C([\rho \bar{t}, \infty), R)$ for some $\bar{t} \ge t_0$, such that $x(t) - R(t)x(\gamma t)$ is continuously differentiable, and x(t) satisfies Eq. (1.2) for all $t \ge \bar{t}$, where $\rho = \min{\{\alpha, \beta, \gamma\}}$.

As is customary, a solution of Eq. (1.2) is said to oscillate if it has arbitrarily large zeroes; otherwise, the solution is called non-oscillatory.

2 Lemmas

In this section, we establish some lemmas which are also interesting in their own rights.

Lemma 2.1. Assume that (1.3), (1.4) and (1.7) hold. Let y(t) be an eventually positive solution of the inequality

$$\frac{d}{dt}\left[x(t) - R(t)x(\gamma t)\right] + \frac{P(t)}{t}x(\alpha t) - \frac{Q(t)}{t}x(\beta t) \leqslant 0,$$
(2.1)

and set

$$z(t) = y(t) - R(t)y(\gamma t) - \int_{\frac{\alpha}{\beta t}}^{t} \frac{Q(s)}{s} y(\beta s) ds.$$
(2.2)

Then the oscillation of all solutions of the second ordinary differential equation

$$w''(t) + \left(\ln\frac{1}{\rho}\right)^{-1} \cdot \frac{H(t)}{t^2} w(t) = 0, \ t \ge t_0 > 0,$$
(2.3)

implies that $z'(t) \leq 0$ *and* z(t) < 0 *eventually.*

Proof. Let $t_1 \ge t_0$ be such that

$$y(\gamma t) > 0, y(\alpha t) > 0, y(\beta t) > 0, \text{ for } t \ge t_1.$$

Then, from (2.1) and (2.2) it follows that

$$z'(t) = -\frac{1}{t} \left(P(t) - Q\left(\frac{\alpha}{\beta}t\right) \right) y(\alpha t) = -\frac{H(t)}{t} y(\alpha t) \le 0, \ t \ge t_1.$$
(2.4)

Therefore, if z(t) < 0 does not hold eventually, then z(t) > 0 eventually. Let $t_1 \ge \frac{t_0}{\rho}$ be such that $y(\rho t) > 0, z(t) > 0$ for $t \ge t_1$. Set $M = 2^{-1} \min\{y(t) : \rho t_1 \le t \le t_1\}$. Then y(t) > M for $\rho t_1 \le t \le t_1$. We claim that

$$y(t) > M, \ t \ge t_1. \tag{2.5}$$

If (2.5) does not hold, then there exists a $t^* > t_1$ such that y(t) > M for $\rho t_1 \le t < t^*$ and $y(t^*) = M$. Using (1.7) and (2.2), we obtain

$$M = y(t^*) = z(t^*) + R(t^*)y(\gamma t^*) + \int_{\frac{\alpha}{\beta}t^*}^{t^*} \frac{Q(s)}{s}y(\beta s)ds$$
$$> \left(R(t^*) + \int_{\frac{\alpha}{\beta}t^*}^{t^*} \frac{Q(s)}{s}y(\beta s)ds\right)M \ge M.$$

This is a contradiction and so (2.5) holds. Let $\lim_{t\to\infty} z(t) = l$. There exist two possible cases:

Case 1. l = 0. There exists a $T_1 > t_1$ such that z(t) < M/2 for $t \ge T_1$. Then for any $\overline{t} > T_1$, we have

$$\left(\ln\frac{1}{\rho}\right)^{-1}\int_{\overline{t}}^{\frac{t}{\rho}}\frac{z(s)}{s}ds \leqslant M < y(t), \ t \in [\overline{t}, \overline{t}/\rho].$$

Case 2. l > 0. Then $z(t) \ge l$ for $t > t_1$. From (1.7), (2.2) and (2.5), it follows that

$$y(t) \ge l + R(t)y(\gamma t) + \int_{rac{lpha}{eta t}}^t rac{Q(s)}{s} y(eta s) ds \ge l + M, \ t \ge t_1.$$

By induction, it is easy to see that $y(t) \ge kl + M$ for $t \ge \frac{t_1}{p^{k-1}}$ (k = 1, 2, ...), and so $\lim_{t \to \infty} y(t) = \infty$, which implies that there exists a $T > T_1$ such that

$$\left(\ln\frac{1}{\rho}\right)^{-1}\int_{T}^{t}\frac{z(s)}{s}ds \leq 2z(T) < y(t), \ t \in [T, T/\rho].$$

Cases 1 and 2 show that

$$y(t) > \left(\ln\frac{1}{\rho}\right)^{-1} \int_{T}^{\frac{t}{\rho}} \frac{z(s)}{s} ds, \ t \in [T, T/\rho].$$

Now we prove that

$$y(t) > \left(\ln\frac{1}{\rho}\right)^{-1} \int_{T}^{\frac{t}{\rho}} \frac{z(s)}{s} ds, \ t \ge T/\rho.$$
(2.6)

Otherwise, there exists a $t^* > T/\rho$ such that

$$y(t^*) = \left(\ln\frac{1}{\rho}\right)^{-1} \int_T^{\frac{t^*}{\rho}} \frac{z(s)}{s} ds, \ y(t) > \left(\ln\frac{1}{\rho}\right)^{-1} \int_T^{\frac{t}{\rho}} \frac{z(s)}{s} ds, \ t \in (T/\rho, t^*).$$

This implies by (1.7) and (2.2) that

$$\begin{aligned} \left(\ln\frac{1}{\rho}\right)^{-1} \int_{T}^{\frac{t^{*}}{\rho}} \frac{z(s)}{s} ds \\ &= z(t^{*}) + R(t^{*})y(\gamma t^{*}) + \int_{\frac{\alpha}{\beta}t^{*}}^{t^{*}} \frac{Q(s)}{s}y(\beta s)ds \\ &> \left(\ln\frac{1}{\rho}\right)^{-1} \int_{t^{*}}^{\frac{t^{*}}{\rho}} \frac{z(s)}{s} ds + \left(R(t^{*}) + \int_{\frac{\alpha}{\beta}t^{*}}^{t^{*}} \frac{Q(s)}{s}ds\right) \left(\ln\frac{1}{\rho}\right)^{-1} \int_{T}^{t^{*}} \frac{z(s)}{s} ds \\ &\geqslant \left(\ln\frac{1}{\rho}\right)^{-1} \int_{T}^{\frac{t^{*}}{\rho}} \frac{z(s)}{s} ds. \end{aligned}$$

This is a contradiction and so (2.6) holds. Thus, for $t > T/\rho$, we have

$$y(\alpha t) \ge \left(\ln \frac{1}{\rho}\right)^{-1} \int_{T}^{t} \frac{z(s)}{s} ds.$$
(2.7)

Substituting (2.7) into (2.4) leads to

$$z'(t) + \frac{H(t)}{t} \left(\ln\frac{1}{\rho}\right)^{-1} \int_T^t \frac{z(s)}{s} ds \leq 0, \ t > T/\rho.$$

Hence

$$z'(t) + \frac{H(t)}{t^2} \left(\ln\frac{1}{\rho}\right)^{-1} \int_T^t z(s) ds \leq 0, \ t > T/\rho.$$

Put

$$w(t) = \int_T^t z(s) ds, \ t > T/\rho.$$

One can easily find that w'(t) = z(t), w''(t) = z'(t) and

$$w''(t) + \left(\ln\frac{1}{\rho}\right)^{-1} \cdot \frac{H(t)}{t^2} w(t) \leq 0, \ t > T/\rho.$$

By Lemma 2.4 in [15], Eq. (2.3) has an eventually positive solution. This is a contradiction and the proof is complete. \Box

Lemma 2.2. Assume that (1.3), (1.4) and (1.6) hold. Let y(t) be an eventually positive solution of the inequality (2.1) and z(t) be defined by (2.2). Then

$$z'(t) \leq 0, \quad z(t) > 0 \quad and \quad z'(t) + \frac{H(t)}{t}z(\alpha t) \leq 0.$$
 (2.8)

Proof. (2.4) implies that z(t) is eventually decreasing. In view of $y(t) \ge z(t)$, (2.4) yields

$$z'(t) + \frac{H(t)}{t}z(\alpha t) \leqslant 0.$$

Now we prove z(t) > 0. For otherwise, then eventually z(t) < 0, and there exist $t_2 \ge t_1$ and c > 0 such that $z(t) \le -c$ for $t \ge t_2$, that is,

$$y(t) \leq -c + R(t)y(\gamma t) + \int_{\frac{\alpha}{\beta}t}^{t} \frac{Q(s)}{s} y(\beta s) ds, t \geq t_{2}.$$
(2.9)

We consider the following two possible cases:

Case 1. y(t) is unbounded, that is, $\limsup_{t\to\infty} y(t) = \infty$. Thus, there exists a sequence of points $\{s_n\}_{n=1}^{\infty}$ such that $s_n \ge \frac{t_2}{\rho}$, $n = 1, 2, ..., s_n \to \infty$, $y(s_n) \to \infty$ as $n \to \infty$, and $y(s_n) = \max\{y(t) : t_2 \le t \le s_n\}$, n = 1, 2, ... From (1.6) and (2.9), it follows that

$$\begin{aligned} y(s_n) &\leqslant -c + R(s_n) y(\gamma s_n) + \int_{\frac{\alpha}{\beta} s_n}^{s_n} \frac{Q(s)}{s} y(\beta s) ds \\ &< -c + y(s_n) \left[R(s_n) + \int_{\frac{\alpha}{\beta} s_n}^{s_n} \frac{Q(s)}{s} ds \right] \\ &\leqslant -c + y(s_n). \end{aligned}$$

This is a contradiction.

Case 2. y(t) is bounded, i.e., $\limsup_{t\to\infty} y(t) = l < \infty$. Choose a sequence of points $\{\sigma_n\}_{n=1}^{\infty}$ such that $\sigma_n \to \infty$ and $y(\sigma_n) \to l$ as $n \to \infty$. Let $y(\sigma_n^*) = \max\{y(s) : \rho\sigma_n \leq s \leq s \leq s\}$

 $\rho\sigma_n$ }, $\sigma_n^* \in [\rho\sigma_n, \rho\sigma_n]$, n = 1, 2, ..., where $\rho = \max\{\alpha, \beta, \gamma\}$. Then $\sigma_n^* \to \infty$ as $n \to \infty$ and $\limsup_{t\to\infty} y(\sigma_n^*) \leq l$. Thus, by (1.6) and (2.9), we get

$$y(\sigma_n) \leqslant -c + R(\sigma_n)y(\gamma \sigma_n) + \int_{\frac{\alpha}{\beta}\sigma_n}^{\sigma_n} \frac{Q(s)}{s}y(\beta s)ds$$

$$< -c + y(\sigma_n^*) \left[R(\sigma_n) + \int_{\frac{\alpha}{\beta}\sigma_n}^{\sigma_n} \frac{Q(s)}{s}ds \right]$$

$$\leqslant -c + y(\sigma_n^*).$$

Taking the superior limit as $n \rightarrow \infty$ yields

$$l \leq -c + \limsup_{t \to \infty} y(\sigma_n^*) \leq -c + l,$$

which is also a contradiction. The proof of Lemma 2.2 is complete.

3 Main results

In this section, we will establish some Hille type oscillation criteria for Eq. (1.2) by using the lemmas in Section 2 and the following Lemma which is due to E. Hille [7]. Some examples are also given to illustrate the applications of our results.

Lemma 3.1. [7] Consider the ordinary differential equation

$$y''(t) + p(t)y(t) = 0, t \ge t_0,$$
 (3.1)

where $p(t) \in C([t_0,\infty), \mathbb{R}^+)$. Then all solutions of Eq. (3.1) oscillate if

$$\liminf_{t\to\infty} t\int_t^\infty p(s)ds > \frac{1}{4}.$$

Theorem 3.2. Assume that (1.3), (1.4) and (1.5) hold and that

$$\liminf_{t \to \infty} t \int_t^\infty \frac{H(s)}{s^2} ds > \frac{1}{4} \ln \frac{1}{\rho}.$$
(3.2)

Then all solutions of Eq. (1.2) oscillate.

Proof. Suppose that Eq. (1.2) has an eventually positive solution y(t). Let z(t) be defined by (2.2). Then by Lemma 2.2, z(t) > 0 eventually. On the other hand, By Lemma 3.1, (3.2) implies that all solutions of Eq. (2.3) oscillate. By Lemma 2.1, it follows that z(t) < 0. This contradiction completes the proof.

Example 3.3. Consider the differential equation

$$\frac{d}{dt}[x(t) - 0.97x(e^{-\pi}t)] + \frac{1.97 + \frac{3}{200\pi}}{t}x(e^{-\frac{5\pi}{2}}t) - \frac{3}{200\pi t}x(e^{-\frac{\pi}{2}}t) = 0, \ t \ge 2.$$
(3.3)

Simple calculation shows that

$$R(t) + \int_{\frac{\alpha}{\beta}t}^{t} \frac{Q(s)}{s} ds = 1, \quad \liminf_{t \to \infty} t \int_{t}^{\infty} \frac{H(s)}{s^{2}} ds = 1.97 > \frac{1}{4} \ln \frac{1}{\rho} = \frac{5\pi}{8}.$$

One can easily see that Eq. (3.3) satisfies all conditions of Theorem 3.2, and so every solution of Eq. (3.3) oscillates. Indeed, $x(t) = \sin(\ln t)$ is such a solution.

Theorem 3.4. Assume that (1.3), (1.4), (1.6), and (3.2) hold, and that

$$R(\alpha t)H(t) \ge H(\gamma t). \tag{3.4}$$

Then every solution of Eq. (1.2) oscillates.

Proof. Assume, for the sake of contradiction, that Eq. (1.2) has a non-oscillatory solution y(t), we shall assume that y(t) is eventually positive. The case where y(t) is eventually negative is similar and will be omitted. Let z(t) be defined by (2.2). Then, by Lemma 2.2, there exists $t_1 \ge t_0$ such that

$$z(t) > 0, \quad \text{for } t \ge t_1. \tag{3.5}$$

Thus, in view of (3.4), we have

$$z'(t) = -\frac{H(t)}{t}y(\alpha t) \leqslant -\frac{H(t)}{t}z(\alpha t) - \frac{H(\gamma t)}{t}y(\alpha \gamma t) = \frac{H(t)}{t}z(\alpha t) - \frac{d}{dt}z(\gamma t),$$

which implies that z(t) is a positive solution of the inequality

$$\frac{d}{dt}[w(t) - w(\gamma t)] + \frac{H(t)}{t}w(\alpha t) \leq 0.$$
(3.6)

This shows that all conditions of Lemma 2.2 are satisfied, hence, $u(t) = z(t) - z(\gamma t)$ is eventually positive. On the other hand, by Lemma 3.1 and noting that (3.6) all conditions of Lemma 2.2 are also satisfied, there follows that $u(t) = z(t) - z(\gamma t) < 0$ eventually, which is a contradiction and the proof is complete.

Example 3.5. Consider the differential equation

$$\frac{d}{dt}\left[x(t) - \frac{1}{2}x\left(e^{-2}t\right)\right] + \frac{c + \sqrt{t}}{t}x\left(e^{-2}t\right) - \frac{c}{t}x\left(e^{-1}t\right) = 0, \ t \ge 1,$$
(3.7)

where $0 < c \leq 1/2$.

Standard calculation give us $\liminf_{t\to\infty} t \int_t^{\infty} \frac{H(s)}{s^2} ds = +\infty$ and $\frac{1}{4} \ln \frac{1}{\rho} = \frac{1}{2}$. And one can without difficulty find that Eq. (3.7) also satisfies the another conditions of Theorem 3.4 and so every solution of Eq. (3.7) is oscillatory.

Theorem 3.6. Assume that (1.3), (1.4), (1.7), and (3.2) hold, and that $\frac{Q(\alpha t)}{P(\beta t)-Q(\alpha t)}$ is nondecreasing. Also suppose that there exist nonnegative constants h_1 and h_2 such that

$$H(t)R(\alpha t) \leqslant h_1 H(\gamma t), \tag{3.8}$$

$$H(t)Q(\alpha t) \leqslant h_2[P(\beta t) - Q(\alpha t)], \tag{3.9}$$

and

$$h_1 + h_2 \ln \frac{\beta}{\alpha} = 1. \tag{3.10}$$

Then every solution of Eq. (1.2) oscillates.

Proof. Otherwise, Eq. (1.2) has an eventually positive solution y(t). Let z(t) be defined by (2.2). From Lemma 2.1, it follows that z(t) < 0. And, by (3.9) and (3.10), we have

$$z'(t) = -\frac{1}{t} [P(t) - Q(\frac{\alpha}{\beta}t)] y(\alpha t) = -\frac{H(t)}{t} y(\alpha t)$$

$$= -\frac{H(t)}{t} [z(\alpha t) + R(\alpha t) y(\alpha \gamma t) - \int_{\frac{\alpha}{\beta}t}^{t} \frac{Q(\alpha s)}{s} y(\alpha \beta s) ds]$$

$$\geqslant -\frac{H(t)}{t} z(\alpha t) - \frac{h_{1}}{t} H(t) y(\alpha \gamma t) - \frac{H(t)}{t} \int_{\frac{\alpha}{\beta}t}^{t} \frac{Q(\alpha s)}{P(\beta s) - Q(\alpha s)} \frac{d}{ds} [-z(\beta s)] ds$$

$$\geqslant -\frac{H(t)}{t} z(\alpha t) + h_{1} \frac{d}{dt} [z(\gamma t)] - \frac{h_{2}}{t} [z(\alpha t) - z(\beta t)].$$

That is

$$\frac{d}{dt}[z(t)-h_1z(\gamma t)]+\frac{H(t)+h_2}{t}z(\alpha t)-\frac{h_2}{t}z(\beta t)\geq 0.$$

This implies that -z(t) is a positive solution of the inequality

$$\frac{d}{dt}[w(t) - h_1w(\gamma t)] + \frac{H(t) + h_2}{t}w(\alpha t) - \frac{h_2}{t}w(\beta t) \leq 0,$$

which will yield a contradiction by Lemma 2.1 and Lemma 2.2. Therefore, the proof of Theorem 3.6 is complete. $\hfill \Box$

Example 3.7. If we take $h_1 = h_2 = 1/2$, then the equation

$$\frac{d}{dt}\left[x(t) - \frac{et+2}{2(et+3)}x(e^{-1}t)\right] + \frac{1}{t}x(e^{-1}t) - \frac{1}{2t}x(t) = 0, \ t \ge e$$
(3.11)

satisfies the conditions of Theorem 3.6. Hence, all solutions of the equation oscillate.

Acknowledgments

The authors are very grateful to the referee for his (her) valuable suggestions for the improvement of this paper.

References

[1] R. An, Oscillation criteria of solutions for delay differential equations. *Math. in Practice and Theory.* **3**(2000), pp 310-314.

- [2] L. Berezansky, Y. Domshlak and E. Braverman, On oscillation properties of delay differential equations with positive and negative coefficients. J. Math. Anal. Appl. 274(2002), pp 81-101.
- [3] T. A. Chanturia, Integral criteria for the oscillation of higher order differential equations. *Differencialnye Uravnenija*. 16(1980), pp 470-482.
- [4] Q. Chuanxi and G. Ladas, Oscillation in differential equations with positive and negative coefficients. *Canad. Math. Bull.* 33(1990), pp 442-450.
- [5] K. Farrel, E. A. Grove and G. Ladas, Neutral differential equations with positive and negative coefficients. *Appl. Anal.* 27(1988), pp 181-197.
- [6] K. Z. Guan, Q. S. Wang and J. D. Liao, Oscillation criteria of solutions for a class of delay differential equations with positive and negative coefficients. *Ann. of Diff. Eqs.* 3(2004), pp 235-242.
- [7] E. Hille, Non-oscillation theorems. Trans. Amer. Math. Soc. 64(1948), pp 234-253.
- [8] B. T. Li and Y. Kuang, Sharp conditions for oscillations in some nonlinear nonautonomous delay differential equations. *Nonlinear Anal.* **29**(1997), pp 1265-1276.
- [9] E. B. Lim, Asymptotic behavior of solutions of the functional differential equation $x'(t) = Ax(\lambda t) + Bx(t), \lambda > 0$. J. Math. Anal. Appl. **55**(1976), pp 794-806.
- [10] J. R. Ockendon and A. B. Taylor, The dynamics of a current collection system of an electric locomotive. *Proc. Roy. Soc. London Ser. A* 322(1971), pp 447-468.
- [11] L. Pandofli, Some observations on the asymptotic behaviors of the solutions of the equation $x'(t) = A(t)x(\lambda t) + B(t)x(t), \lambda > 0$. *J. Math. Anal. Appl.* **67**(1979), pp 483-489.
- [12] S. G. Ruan, Oscillations for first order neutral differential equations with variable coefficients. *Bull. Austral. Math. Soc.* 43(1991), pp 147-152.
- [13] J. H. Shen and L. Debnath, Oscillation of solutions of neutral differential equations with positive and negative coefficients. *Appl. Math. Lett.* 14(2001), pp 775-781.
- [14] X. H. Tang and J. H. Shen, New oscillation criteria for first order nonlinear delay differential equations. *Colloqium Math.* 83(2000), pp 21-41.
- [15] X. H. Tang and J. H. Shen, Oscillation and existence of positive solution in a class of higher order neutral differential equations. J. Math. Anal. Appl. 213(1997), pp 662-680.
- [16] T. Yoneyama, On the 3/2 stability theorem for one-dimensional delay differential equations with unbounded delay. *J. Math. Anal. Appl.* **165**(1992), pp 133-143.
- [17] J. S. Yu, Neutral differential equations with positive and negative coefficients. Acta. Math. Sinca. 34(1991), pp 517-523.
- [18] J. S. Yu and J. Yan, Oscillation in neutral differential equations with "Integrally small" coefficients. J. Math. Anal. Appl. 187(1994), pp 361-370.